
Subject: BYTSCL function
Posted by g.nacarts on Thu, 25 Jun 2015 11:41:17 GMT
View Forum Message <> Reply to Message

I am using the BYTSCL function to scale all values of my array and also because I want to be
returned in byte type. 

For the array A with max = 4745.34 and min = -726643. I used the BYTSCL(A, min=0., max=160.)

For the array B with max =  7.82217e+007 and min = -5.47788e+008 I tried to used only
BYTSCL(B) but my image is not good. I guess that's because the max and min values are very
large and small respectively?
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